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testbench2 #RiR

‘timescale 1 ns/1 ns
module testbench2();

J/ AN A
regclk ;
reg rst_n;

/aut IG5

reg din vld

reg[7:0] din f

reg din sop ;

reg din eop ;

reg din_err
Jhaut FY% A
wire dout vid ;
wire[7:0] dout ;
wire dout sop ;
wire dout eop ;
wire dout err ;

BN 3, BN ns, ATTECAE SN B R
parameter CYCLE =20;
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parameter RST TIME =3 ;

integer
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mess_detection u_mess_detection(

.clk (clk ),
Ist n (rstn ),
.din (din ),
.din_sop (din_sop ),
.din_eop (din_eop ),
.din_vld (din_vld),
.din_err (din_err),
.dout (dout ),
.dout_sop (dout_sop),
.dout_eop (dout_eop),
.dout _vld (dout_vld),
.dout_err (dout_err)
A A I B 50M
initial begin

clk=0;

forever

#(CYCLE/2)

clk=~clk;
end
N tE RS
initial begin

st n=1;

#2;

rst n=0;

#(CYCLE*RST _TIME);

st n=1;
end
/
initial begin

#1;

din_vld = 0;

din =0;

din_sop = 0;

din_eop = 0;



din_err = 0;

#(5*CYCLE);

for(i=0;i<=100;i=i+1)begin
din_vld = (i==100)?0:1;
din =1;
din_sop = (i==0)?1:0;
din_eop = (i==99)?1:0;
#(CYCLE);

end

#(3*CYCLE);

for(i=0;i<=90;i=i+1)begin
din_vld = (i==90)?0:1;
din =2;
din_sop = (i==0)?1:0;
din_eop = (i==89)?1:0;
#(CYCLE);

end

#(3*CYCLE);
for(i=0;i<=110;i=i+1)begin
din_vld = (i==110)?0:1;
din =3;
din_sop = 0;
din_eop = (i==109)?1:0;
#(CYCLE);
end

#(3*CYCLE);

for(i=0;i<=10;i=i+1)begin
din_vld = (i==10)?0:1;
din =4,
din_sop = (i==0)?1:0;
din_eop = (i==9)?1:0;
#(CYCLE);

end

#(3*CYCLE);
for(i=0;i<=11;i=i+1)begin
din_vld = (i==11)?0:1;
din =5;
din_sop = 0;
din_eop = (i==10)?1:0;

//package a

//package b

//package c

//package d

//package e



P DEm

#(CYCLE);
end

#(3*CYCLE); /lpackage f
for(i=0;i<=30;i=i+1)begin

din_vld = (i==30)?0:1;

din =0;

din_sop = (i==0)?1:0;

din_eop = (i==29)?1:0;

#(CYCLE);
end

end

endmodule





